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QUESTION 1

Given:

package test.tl;
public class A {

public int x = 42;

protected A() {} // line 1
}

and

package test.t2;
import test.tl.¥;
public class B extends A {
int x = 17; // line 2
public B() { super(); } // line 3
}

and

package test;
import test.tl.¥;
import test.t2.¥%;
public class Tester {
public static void main(String[] args) {
A obj = new B():; // line 4
System.out.println(obj.x); // line 5

}

What is the result?

A. 42

B. The compilation fails due to an error in line 4.
C.17

D. The compilation fails due to an error in line 3.
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E. The compilation fails due to an error in line 2.
F. The compilation fails due to an error in line 1.
G. The compilation fails due to an error in line 5.

Correct Answer: B

package test.tl;

public class A {
public int x = 42;
protected A() {(}

}
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and

package test.t2;
import test.tl.*;
public class B extends A {
int x = 17;
public B() { super(); }
}
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import test.tl.¥*;

import test.t2.*;

public class Tester {

22 public static void main(String[] args) {
23 A obj - new B();

24 System.out.println (obj.x);
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QUESTION 2

Given:

public interface ExamplelInterface{ }

Which two statements are valid to be written in this interface? (Choose two.)

A. public abstract void methodB();
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B. final void methodG(){ System.out.printin("G"); }
C. private abstract void methodC();

D. public String methodD();

E. public int x;

F. final void methodE();

G. public void methodF(){ System.out.printin("F"); }

Correct Answer: BG

QUESTION 3

Given: What is the result?

import java.time.LocalDate;
import static java.time.DayOfWeek.*;
public class Main {
public static void main(String[] args) {
var today = LocalDate.now() .with (TUESDAY) .getDayOfWeek();
switch (today) {
case SUNDAY:
case SATURDAY:
System.out.println("Weekend");
break;
case MONDAY: FRIDAY:
System.out.println("Working"):;
default:
System.out.println("Unknown");

}

A. Working Unknown

B. Unknown

C. Tuesday Unknown
D. The compilation fails.
E. Tuesday

F. Working
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Correct Answer: B

»

Console 1 Console 2

Unkown

Completed with exit code: 0

QUESTION 4

Given: What is the result?

class ConSuper ({
protected ConSuper() {
this(2):;
System.out.print ("1");
}
protected ConSuper (int a){
System.out.print(a);
}
}

and

public class ConSub extends ConSuper({
ConSub () {
this(4);
System.out.print("3");
}
ConSub(int a) {
System.out.print (a);
}
public static void main (String[] args){
new ConSub(4);
}
}

A. 2134

170-815 VCE Dumps | 120-815 Practice Test | 1Z0-815 Braindumps 5/14


https://www.leads4pass.com/1z0-815.html
https://www.leads4pass.com/1z0-815.html
https://www.leads4pass.com/1z0-815.html

https://lwww.leads4pass.com/1z0-815.html

Leads4 Pa ss 2024 Latest leads4pass 120-815 PDF and VCE dumps Download

B. 2143
C.214
D. 234

Correct Answer: C

Console 1

214
Completed with exit code: 0

QUESTION 5

Given: What is the result?

class Super |{
static String greeting() { return "Good Night"; )}
String name() { return "Harry"™; }

1
and

class Sub extends Super {
static String greeting{) { return "Good Morning":; }
String name() { return "Potter"; }

}

and

class Test |
public static void main(String[] args) {
Super s = new Sub();
System.out.println(s.greeting() + ", " + s.name());

A. Good Morning, Potter
B. Good Night, Potter
C. Good Morning, Harry

D. Good Night, Harry
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Correct Answer: B

— | ——
Console 4 *
Cood Might, Potter

Completed with exit code: ©

QUESTION 6

Given:

public class Person {
private String name = "Joa Bloggs":
public Person(String name) {
this.name = nams;

}
public String toString() {
return name;

)
}

and
public class Tester {
public static void main(String[] args) {
Person pl = new Person(); // line 1
System.out.printlnipl):
}
What is the result?
A. null
B. Joe Bloggs
C. The compilation fails due to an error in line 1.
D. pl

Correct Answer: C
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i . . =l H - =

@ constructor Perscn in class Person cannot be applied ta given types;

required: java.laig.String
found: no arguments

reason: actual and formal argument lists differ in length

9o - Person pl = new Person{);
5 System.out.println(pl);
& }
M

QUESTION 7

Given:

import java.io.FileNotFoundException;
import java.io.IOException;

public class Tester ({
public static void main(String[] args) {
try {
doA() ;
} //line 1
}
private static void doA() throws IOException,
if (false) {
throw new FileNotFoundException():
} else {
throw new IndexOutOfBoundsException():

What must be added in line 1 to compile this class?
A. catch(IOException e) { }
B. catch(FileNotFoundException | IndexOutOfBoundsException e) { }

C. catch(FileNotFoundException | IOException e) { }

IndexOutOfBoundsException {

D. catch(IndexOutOfBoundsException e) { } catch(FileNotFoundException e) { }

E. catch(FileNotFoundException e) { } catch(IndexOutOfBoundsException €) { }

Correct Answer: C

QUESTION 8

Given:
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public interface EulerInterface {
double getEulerValue():

}
public class EulerLambda {
public static void main(String[] args) {
EulerInterface myEulerInterface;

myEulerInterface = () -> "2.71828";
System.out.println("Value of Euler = " + myEulerInterface.getEulerValue());

}

What is the result?

A. It throws a runtime exception.
B. Value of Euler = 2.71828

C. The code does not compile.
D. Value of Euler = "2.71828"

Correct Answer: C

QUESTION 9

Given:
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public class Person {
private String name;
public void setName (String name) {
String title = "Dr. ";
name = title+name;

}
public String toString() {
return name;

}
and

public class Test {
public static void main(String args([]) {
Person p = new Person():;
p.setName ("Who") ;
System.out.println(p);

What is the result?

A. Dr. Who

B. Dr. Null

C. An exception is thrown at runtime.
D. null

Correct Answer: D

Console 1 » Console 2
null

Completed with exit code: 0

QUESTION 10
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Which two describe reasons to modularize the JDK? (Choose two.)

A. easier to understand the Java language

B. improves security and maintainability

C. easier to expose implementation details

D. improves application robustness

E. easier to build a custom runtime linking application modules and JDK modules

Correct Answer: BD

QUESTION 11

Given:
StringBuilder s = new StringBuilder ("ABCD"):;

Which would cause s to be AQCD?

A. s.replace(s.indexOf("A"), s.indexOf("C"), "Q");
B. s.replace(s.indexOf("B"), s.indexOf("C"), "Q");
C. s.replace(s.indexOf("B"), s.indexOf("B"), "Q");
D. s.replace(s.indexOf("A"), s.indexOf("B"), "Q");

Correct Answer: C

QUESTION 12

Given:

class Myclass {
public static void main(String [] args) {
System.out._println(arg[l] + "-=-" + arg[3] + "-=-" + arqg[0]):

}

executed using this command: java Myclass My Car is red What is the output of this class?
A. Car--red--My
B. My--Car--is

C. My--is--java
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D. java--Myclass--My
E. Myclass--Car--red

Correct Answer: B

QUESTION 13

Given:

public class Test {
private int sum;
public int compute() {
int x = 0;
while(x < 3) {
sum += X++;
}
return sum;
}

public static void main(String[] args)

Test t = new Test();

int sum = t.compute();
sum = t.compute();
t.compute () ;
System.out.println(sum) ;

}

What is the result?

A9

B. An exception is thrown at runtime.
C.3

D.6

Correct Answer: D
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Console 1 % Console 2 " Console 3 %

6

Completed with exit code: 0

QUESTION 14

Analyze the code:

public class Test {
static String prefix = "Global:";
private String name = "namescope";
public static String getName () {
return new Test () .name;
}
public static void main(String[] args) {
Test t = new Test():

System.out.println(/* Insert code here */);

Which two options can you insert inside println method to produce Global:namescope? (Choose two.)
A. Test.prefix+Test.name

B. new Test().prefix+new Test().name

C. Test.prefix+Test.getName()

D. Test.getName-+prefix

E. prefix+Test.name

F. prefix+tname

Correct Answer: BC

QUESTION 15

Given:
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public class DNASynth {
int aCount;
int tCount;
int cCount;
int gCount;

volid setACount (int cCount) {
cCount = cCount;

}
void setTCount () {
this.tCount = tCount;

int setCCount () {
return cCount;

int setGCount (int g) {
gCount = g;
return gCount;

}
void setAllCounts(int x){

aCount = tCount = this.cCount = setGCount (x):

Which two methods modify field values? (Choose two.)
A. setAllCounts

B. setACount

C. setGCount

D. setCCount

E. setTCount

Correct Answer: BE
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